facamsrasT arferer fagamdis odaT
PETT — 3TsCH featier -27 - 09 - 2021
T, Y, §, RE, W 3meid

GUAHTA Fedl 3Tl ool i & IR H Gol:  HEGTA il |

ToleT 9T o HIH
ATl A Y o A& [@gAT & a1er 141 §, S o=t faf@a g
ga-1 -

Ry 99T & gge Aol (@ T & T) T Aol fhdY T 3727aT el G F R aoT (T T 5
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. fe& + 31d = feara (@ + 37 =)
o Hd + HATGAT = HSHTTAT (d + H = T)

o 37T+ AIC = ATSMGT (A + 3T = )

o 39 + ol = 3eal (T + ol =4d)
e NC+ 3 = WSId (T + 37T = 8)
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o d& + AT = AI5HY F+H=73)
. Ra+ag=ReAg (d+HF=75)
o SN + AT = WA (A + o =)

o dd+ AT =deHI (A+H=4)
e YC + HY = YUHY (E,"+?F|'=U'[)
T+ 7 7 :
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SN AITCFH G I T AT B & Al A ATC & Scol T 8T SIAT &1 ST AT ST &7l o &) SIrelm
Sl TAT SR A TEI ST &1 3 AT S Bl il 3 AT o &1 Al of &1 ATl &1 S a-

e 3d + IRUT=3ITAROT  (d + T =)

e Hd + ST = Hoold (A+3T =30

o 3 + 3T = 333TA (d+35=75)

e 3d + °lTH = 3ecllH (d+oT =4
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H & §1¢, TS IS TIY cToTeT JUT A AT H HT IACIR AT §1¢ dTel gUT T FUTed0T
LT STSTeT S 3T T TTH goT @Y ST § | Sid—

e 3EH+ IR =3HghR (H+FH =73)
o A+ IH = HIHA (H+ =3
. A+ Ra=FRa (A+T=9)
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